Multiplication et Division par 10 (A)

Trouvez chaque produit ou quotient.

10 - 10 = 34 =10 =
13 x10 = 74 + 10 =
71+ 10 = 73 X 10 =
13+10= 19 - 10 =
96 X 10 = 64 X 10 =
40 x 10 = 12 +-10=
96 X 10 = 89 x 10 =
26 X 10 = 89 + 10 =
37 +10 = 76 X 10 =
40 X 10 = 37 =10 =
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Multiplication et Division par 10 (A) Solutions

10+-10=1

13 x10=130

71+10=7,1

13+10=1,3

96 X 10 =960

40 x 10 =400

96 X 10 =960

26 X 10 =260

37 +10=3,7

40 x 10 =400

Trouvez chaque produit ou quotient.

34+10=3,4

74+10=7,4

73 xX10=730

19+10=19

64 X 10 = 640

12+10=1,2

89 x 10 =890

89+10=389

76 X 10 =760

37 +10=23,7
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